HERHEE GEmmEZ o 2 TH)

Al it ER B e

EILZILIRAFt=8cm REREKLY m2 2411.9

BREILZILRAT8em 52 AT+110ERT=1.2x1.2%x 162= m2 233.3

WA —MEE m2 2411.9

—MLHE TmXx10m #922kg 2.2kg/m2 X 1/2=1.1kg X 2411.9--1000 t 2.65

P RO FHEMERE - |64.0m X 3.9m= m2 249.6

REBEMERRUIER TisH F 1

(SRR UEHAIR] E4E[H-200%200%8%12 L=4.50m*334 W=4.50%49.9%33=7,410.2kg| t 7.41

12| L-75%75%6 L=4.00m*64 Z& W=4.00%6.85%64=1753.6kg t 175

TEAKX L=2.0 ¢ 120 3.9/0.12%32 ¥:N 1040

e Al 0.6+0.6%0.8%33 m3 9.5

REOH)—H 0.6%0.6%0.8%33 m3 9.5

Mtz 22 m B 4 L=0.5 X 3374 m 16.5

FAI7 LRI 10cm (0.6+0.6+0.6+0.6) x 33 A m 79.2
7 AH—T HI#r10cm

SRR 0.6 X 0.6 X 33l m2 1.9

T RAI7 L ERERR AL 5> 0.6 X 0.6 x 33 flf X 0.1= m3 12

KETDSHE-HWE N=34 % 34.0

FEL 9.5m3-(1.0m3*34%%)=9.5-34.0= m3 245

BExr=E 1.0%34= m3 34.0

BAES N=20 F:S 20.0

RERER- 0L E t 20




